
Krima Trading AB
Stene 710 Kumla, 692 93
+46 19 57 35 20
https://krima.rrproducts.com/

Details
Includes 20 ea: R453023 Washer, RP455-4 Nut; 19
ea: RP1470-1 Bolt; 2 ea: R3290-133 Screw; 1 ea:
RP1470-2 Bolt

Specifications
Manufacturer R&R Products

Replacement Parts
R3290-133 Screw - Machine 1/4-20

x 3/4
R453023 Washer - Flat 1/4
RP1470-1 Bolt - Carriage 1/4 x

1-1/4
RP1470-2 Bolt - Carriage 1/4 x

1-3/4
RP455-4 Nut - 1/4-20 Hex Clear

Zinc

Hardware Kit - Fits RP1455
RP1470


